Customize

(@ 1.0mm ¢ 2.0mm
O
[ ]
[ ]
) / 910 915 @20
[ ]
| |
EOOKS
0.1MPa 0.6MPa
10:0 1.0 15:0 1.5 20:0 2.0
O
HS: LS: mm 1/min(ANR) -kPa 1/min(ANR)
TV-10HS 1 27 85 44
TV-10LS 1 36 55 44
S:SUS303 T: TV-15HS 1.5 63 85 100
TV-15LS 1.5 95 55 100
* TV-20HS 2 110 85 180
TV SUS316 TV-20LS 2 165 55 180
* :0.5MPa
O
| / L /Pressure
Fitting hole G E supply port
P /Discharge port A B ) D E 3 G H 0
TV-10 | 45| 33 16 | 10 | 8 | 14| 20 | 45| 2-9 4.2
TV-15 | 63| 35 | 20 |11 10|20 | 25| 5 | 2-945
TV-20 | 85| 40 | 30 | 15|13 |28 |32 7 2-96
J K L (6] P
TV-10 | Rp1/8 | 10 | Rpl/8 | 14 | Rpl/8
TV-15 | Rpl/4 | 15 | Rpl/4 | 17 | Rpl/4
TV-20 | Rp3/8 | 20 | Rpl/4 | 24 | Rpl/2

/Vacuum port

- 49 -




Customize

O
° 1
(1 ( ) (2
(3
1
[ )
O
M5X0.8
M8X0.75 i
2|
L
o
ABC M5X0.8 :“’
° O]
Lol
i o] o]
i .
L 05
| | 11
M4 7/
//\\ 10:‘\IIB S o M4 depth 7 ‘E 104
e QQQO@ N I A,
faYaYa o @ y
< 666 \\ OO@O 10H ol g == o
AN
O OO [o [o]
N oM L/ QA QA
N\ /
N O
N ceee ©
1 2 3
O O
A B C E F
TPCTKR-10 9 56.2 - - -
TNAPC®SR_@_®'@'@ TPCTKR-15 152|642 - | - | -
TPCTKR-20 20 | 64.2 - - -
TPCYKR-10 9 40.2 - - -
TPC @KR'@' @ TPCYKR-15 15.2 | 482 | - - -
TPCYKR-20 20 | 48.2 - - -
T: Y: TNAPCT/YSR-10-3 9 68 18 3 23
TNAPCT/YSR-10-10 15.2 | 75 18 10 23
10:¢ 10 15:¢ 15 20:0 20 TNAPCT/YSR-10-15 20 | 87.5| 18 15 | 30.5
( )
3:3mm 10:10mm 15:15mm TNAPCT/YSR-15-3 9 76 | 26 3 23
TNAPCT/YSR-15-10 15.2 | 83 26 10 23
N: S: TNAPCT/YSR-15-15 20 | 95.5| 26 15 | 30.5
( )
: T: O: TNAPCT/YSR-20-3 9 76 26 3 23
* TNAPCT/YSR-20-10 15.2 | 83 26 10 23
ﬁ TNAPCT/YSR-20-15 20 | 95.5| 26 15 | 30.5

- 50 -



Plastic Pad(

O

. (PEEK POM)
. ( )
. (

|

)

Customize

J: (TPJ PO: /POM
C:3 (TPC ) PE: /PEEK
H:
( ) N:
J A
6:p6 898 10:9 10 15:¢ 15 *
20:¢ 20 30:¢ 30 40:¢ 40 50:¢ 50
C
10:¢ 10 15:¢ 15 20:¢ 20 30:¢ 30
40:¢9 40
1530: @ 15(TPCG-15) ¢ 30*
3060: @ 30(TPCG-30) ¢ 60* A
*1530/3060 A: *
H
20:¢ 20 30:¢ 30 40:¢ 40 50:¢ 50
60:¢ 60 80:¢ 80 100:¢ 100
O
J 052 967 985 0115 915
915 915 4| 4
Elt_pm ?«'M—LH Pp«rL Ly S5 *‘*ﬁQ
dd 11l eas 7] Los] 4 dd o2 | o 4 o
: 0g . 09 34 gs] ° & o1 © : 215
J-6 J-8 J-10 J-15 J-20
18 @ 31 @ 37
: st | :
L | : L 11 g e <4
Wl ew ] Al ew ] [ o BE
¢ 28 © 40 ¢ 50
J-30 J-40 J-50
© 24
C 8 135 06
64 | Q22 94
o2
an | | i{ ) Q I ;31 1 7
8] - L e [|d-
Dk =1 sk o8 34
C-10 C-15 C-20 C-30
@ 30
®6 08 (_vﬂ4_1
r @25 08
R e | [
@ 42 @ 30 © 60
C-40 C-1530 C-3060




L — ki ks
~ o) 3V N L) N N L) 3
o) (=] o 8 | ™ ol 0 8 [t} ™) (=) 0 8 e}
@ 18 © 26 ® 33
@20 @ 30 @ 40
H-20 H-30 H-40
@11 011 o eu
®8 ®8 _ 08
N | N | ¥ n
| | i H
J}L =ih [
3 3 P - o5 ° 3 3 oo
®8 ©8 08
© 20 © 20 © 20
@ 40 50 @70
@ 50 @ 60 @ 80
H-50 H-60 H-80
P.C.D40 P.C.D40
1 r
R o
8§ H—mll | S inee |
| |
o) LO] [Te) '-"’.r
a (= a (=
| | @13 | | 913
4-@ 8.7 4-9 8.7
4-@ 14 4-¢ 14
® 80 @ 130
® 100 ¢ 150
H-100 H-150
O
* -66.7kPa
4 8
J
J-6-N J-8-N J-10-N | J-15-N | J-20-N | J-30-N | J-40-N | J-50-N
(9) 4.5 7 8 12 16 26 33 38
(sz) 0.159 0.384 0.502 1.13 2.01 5.309 8.552 11.34
(N) 1.063 2.573 3.361 7.564 13.447 35.508 57.203 75.85
J-15-A | J-20-A | J-30-A | J-40-A | J-50-A
(9) 12 16 26 33 38
(sz) 0.772 1.392 3.616 5.596 8.244
(N) 5.164 9.311 24.188 37.433 55.146
C
C-10-N | C-15-N | C-20-N | C-30-N | C-40-N
(9) 8 12 17 26 33
(sz) 0.502 1.13 2.269 5.309 8.552
(N) 3.361 7.564 15.18 35.508 57.203
C-15-A | C-20-A | C-30-A |C-40-A |C-1530-A|C-3060-A
(9) 12 17 26 33 26 50
(sz) 0.916 1.648 3.616 5.596 3.528 13.212
(N) 6.127 11.024 | 24.188 37.433 23.6 88.379
H
H-20-N | H-30-N | H-40-N | H-50-N | H-60-N | H-80-N |H-100-N|H-150-N
(9) 18 26 33 40 50 70 80 130
(sz) 2.544 5.309 8.552 12.566 19.634 38.484 | 50.265 | 132.732
(N) 17.019 35.508 57.203 84.044 131.32 257.38 336.17 887.72
H-20-A | H-30-A | H-40-A | H-50-A | H-60-A | H-80-A |H-100-A|H-150-A
(9) 18 26 33 40 50 70 80 130
(sz) 1.944 3.424 5.736 9.256 13.816 26.676 32.66 91.304
(N) 13 22.9 38.37 61.91 92.41 178.44 | 218.47 610.76

-52 -




TPJ

(

&
/53
i A

i Jal i -
oI 211
J )
J-6/8/10 J-15/20/30/40/50
1 B &
PaIEy [

B (@ (@D
¢ Y N7 N
O
1. (TPS )+
J-6/8/10 J-15/20/30/40/50

, z z
z
8H
S 8H N ﬁﬂ | -1aH ~14H
o BT El P J A=
C C
e o LJ o ke ke
9B | 9B o o
A Y 2t o2
[ ? ¢A 9A
TPS JO MO+ TPS JOFO+ TPS O -JMO + TPS O -JFO +
O 2. (TPJ)+ + ( 9
A C| G| H | VA J-15/20/30/40/50

TPS-J6MO + J6 6 [45]15] 1 9 18 M5 7
TPS-J8MO + J8 9 7 15| 1 9 18 M5
TPS-J10MO + J10 9 8 4 105]95 18 M5 —H |
TPS-J6FO + J6 6 [45]15] 1 9 18 M5 ) E | _
TPS-J8FO +J8 9 7 15| 1 9 18 M5 T
TPS-J10FO +J10 9 8 4 105]95 18 M5
TPS-15JMO + J15 13|12 | 4 |05] 11| 255 R1/8 — @C o
TPS-20JMO + J20 18|16 | 4 |05] 13| 275 R1/8 0B
TPS-30JMO + J30 28 26| 6 |05] 18| 325 R1/8 oA
TPS-40JMO + J40 40 | 33| 6 |05] 18| 325 R1/8
TPS-50JMO + J50 50 38| 6 |05] 20| 345 R1/8 TRIG-O O + +
TPS-15JFO + J15 13|12 | 4 |05] 11| 255 Rp1/8
TPS-20JFO + J20 18|16 | 4 |05] 13| 275 Rp1/8
TPS-30JFO + J30 28 26| 6 |05] 18| 325 Rp1/8
TPS-40JFO + J40 40 | 33| 6 |05] 18| 325 Rp1/8
TPS-50JFO + J50 50 | 38| 6 |05| 20| 34.5 Rp1/8
TPJG-1500 + +J15 13112 | 4 |05 11 15 M5
TPJG-2000 + +J20 18|16 | 4 |05 13 18 M5
TPJG-3000 + +J30 28 26| 6 |05] 18| 26.5 M6
TPJG-4000 + +J40 40 | 33| 6 |05] 18| 26.5 M6
TPJG-5000 + +J50 50 38| 6 |05] 20| 28.5 M6/M8

- B3 -




O O
3. (TPC)+ n ( © A C|G (H) J Z
C-10/15/20/30/40 C-1530/3060 TPCG-100+ +Cl0 | 9 | 8 | 2 | 1 15 |12 M5
7 z TPCG-150+  +C15 | 13 | 12 |2.2| 1 23 1.2 M5
i - v 5 TPCG-200+  +C20 | 21| 17| 4 | 1| 23 |12 M5
E— ER TPCG-300+  +C30 | 32 | 26| 6 | 1 | 375 |1.3| M6/M8
| TPCG-400+  +C40 | 42 | 33| 6 | 1 46 | 1.3| M6/M8
N - TPCG-150+  +C1530 30 | 26 | 2.5 | 2 23 1.2 M5
L < — & TPCG-300+  +C3060 60 | 50 | 6 | 5 | 375 |1.3| M6/M8
1S 1 3
=
W
e 1T -
B
$B
A
A
TPCG-O O + +
O ( Z )
1.
J-6/8/10/15/20 , C-10/15/20 J-30/40/50 ,C-30/40
®5
93
M6 8
M10 12
14H
14H g
=1 I S ; 23 S
4N Wil & s
N 14H T S o] H’:EBEEE*
™
M6/M8 ? &1 1 \

2

J-30/40/50 , C-30/40 , H-50/60/80

_,,‘,774
TM5X0.8 1
} i
M14X1 1] "w

D

L S
77777 sy
Z| S *
TNAPFT/YS-15-0O0 TNAPFT/YS-25-0O0
*Q ( E )
O
D E F G H Z
TNAPFT/YS-15-3 50 3 23 17 15 M5X0.5
TNAPFT/YS-15-10 57 10 23 17 15 M5X0.5
TNAPFT/YS-15-15 69.5 15 30.5 24.5 15 M5X0.5
TNAPFT/YS-25-6 68 6 36 28 21 M6X1
TNAPFT/YS-25-15 77 15 36 28 21 M6X1
TNAPFT/YS-25-30 114 30 58 50 21 M6X1

*

-54 -




Customize

B-ECO2
O
e B-ECO
° @ 60/75/100
° 3
°
°
° NBR 45°
O
240 240 240
$28.5 328.5 828.5
%19.5 N 219.5 S 219,
| ‘ 3 i3 | 1)
T MM g9 |é T 48 |4 T 34
e\ L2 AN S = = N
860 ‘ 872 897
$75 100
B-ECO2-60 B-ECO2-75 B-ECO2-100
O
°
°
O O
TPA gel
Toac - = : 2
%6
¢4 R
94 <
10:0 10  20:9 20 o N | e
. " ] a
N: S: N [
TPN “ of | dhe2 -
S 320
TPNG - 1308 -(N)
i)
N: S @@
u: F
TPAG-10A-O TPAG-20A-0O TPNG-130B-0O

- 55 -




	49 TVｶｽﾀﾏｲｽﾞ
	50ランダムワーク対応パッドｶｽﾀﾏｲｽﾞ
	51,52,53,54樹脂パッド
	1/4
	2/4
	3/4
	4/4

	55各種特殊ﾊﾟｯﾄﾞ

